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Abstract

In this paper, we use Pell equation, quadratic residue, recursive sequence and other methods to
study the 5x (x+1) (x+2) (x+3) =11y (y + 1) (y + 2) (y + 3) Diophantine equation. It is proved that
the equation has 16 groups of integer solutions, and there is no positive integer solution.
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1. 51554

SHFR px(x+1)(x+2)(x+3)=ay(y+1)(y+2)(y+3) Gt (p,a)=1, H pqeN)WAELE,
L IE A I T I 52 B BOE A A eI [1]-[10], B EE S8 E 45 iE . 1971 4E Cohn EH] T4
p=10q=20F, REHFEAEREM (X, y)=(54) [1]: 1991 EBHIEM T p=1q="7H, (T E¥EH
R (x,y)=(42) [2]; 2024 K ZFUEH T2 p=5q=42 I, {UHIEREM (x,y)=(6,3) [9]. {H
p="5q=110, JFEHEAk 575211 I6HET 5] REHEXT T RTEBOR, HEM SRR MM BT, M
ZT AR W AT AR AR . ASCHAER p=5,q =111, BRI/

5x(x+1)(x+2)(x+3)=11y(y+1)(y+2)(y+3) (1)

TG IR B
2. MiEFIR

L1 (1) 75

28] x(x+3) [ (x+1)(x+2)] =55 y (y+3) J (v +1)(y+2)]
25(xX* +3x+1-1)(X* +3x+1+1) =55(y” + 3y +1-1)(y* +3y +1+1)
25(x% +3x+1) ~25=55(y? +3y +1) 55

e A5 2 a0 N

[5(x2+3x+1)} ~55(y? 3y+1) =-30 )
S50 x* —55y? = 30 A i AR B UL A4 A 254
xn+yn«/£:i(5+«/§)(un+vn\/§): ( )(89+12\/_) neN’,
in+§n\/£:i(—5+\/£)(un+vn«/£)=i(—5+\/%)(89+12«/£)n,neN*,

Hr 5+J_ 5 &2 J7HE X2 —55y2 = —30 [ /N IF KR, 89+12+/55 J& Pell J77% x? —55y2 =1 [l FE A
Sy, =y, BARRQIMEEREUFHART

(2y+3)° =4y, +5,
(2y+3)° =4y, +5.
Wy, =1, y,>-1, HHIX?-55y% = -30 (P& 2540 WIUE S, T/ 7772 (2) A 7 20 2

(2y+3)° =4y, +5. 3)

ASHERE DL R 96 R 3o
yn+1 = 178yn - yn—l! yo :11 y1 :149 (4)
Up.y =1780, U, 5, Uy =1, =89 (5)
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V., =178v, —v, ,,v, =0,v, =12 (6)

Uy, =U,2 +55v, 2 =2u 2 -1 v, =2uv, @

Yy, =U, +5v, 8

Unin = (<1)° U, (modu, ) ©

Voo = (1) v, (mody,, ) (10)

Yoczn = (1) ¥y (modu, ) GEN

PATR B A B RAIE B (B) AN AE n = —1,0 I BRAL, #ETISRAF Q)M EUR, & )n 15217 IR (D)4

R K
3. or¥itig
3.1. % (2y+3)° =4y, +50t

+ +
B3 1 ﬁ2|m,m>0,DllJ[_20V2m+5j:(u”‘ ;fvm}

UERH 4 2m,m> 0K, HG)RF12 fu,, HT)H
m=2u 2—1zl(m0d8),
[Uzm]

& @)
u U,
+20v, +5 +40u, v, +10u, 2 5 u_+4v
[) 2m > m m
Fﬁj\[ ] [ U, ] [ ][UZm (Uzmj( Uzm J

(-1 Upy | [Un? +55V," ) [ Uy +55V,° — (U, £4v, )(u, F4v,)
- u, JLu, £4v, - u, t4v, - u, t4v

(T ) (71 ) (u, t4v,
- u, t4v, - u, t4v, - 71

BIZ 2 #5 4y, +5 & T4, Mn=0,-1(mod2’ x3 x5).

UERA %$ 351 {4y, +5} U IR 7 2R UE R o

mod151, Hifkn=2,3(mod5), K Ayutif 4y, +5=87,113, ifi 87. 113 /& mod 311 ff°FJ7 JEFIA, %
Bk n=2,3(mod5), FAn=014(mod5). J & MmlE, A FFORHERR KR o

mod 6301, HFkn=16(mod10), Flskn=0,4,59(mod10).

mod521, HEFkn=4,9,14,(mod20), #4n=0,510,1519(mod 20) .

mod59 , HEFRn=14(mod6), 4 n=0,515,20,30,35,39,45,50,59(mod60) .

mod 2437 , Bk n=2,3,5,9(mod12) , %4 n=0,20,30,35,59(mod60).

mod19 , Bk n=2,5(mod9), %l n=0,30,35,60,80,90,120,150,179(mod180) .

mod 251,7489 , % n=6,8,12(mod18), 74 n=0,90,179(mod180).

N, RIS 2% iR n = 90(mod180) , 4 n =180k +90  #ik =2k , Mln=360k+90, #
4 n=2(mod8), Xf/F41 {4y, +5} B mod 73 n[Hfkn=2 (modB)E’Jr % #ik=2k +1, W n=6(mod8),
X5 {4y, +5} B mod 73 [AF AT HEER n = 6(mod8) (1% 7% .

2m

2m m
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&
B

ZE PR n= O,—l(mod 22 % 3? ><5) o
BIZ3 %n=0(mod2’x3 x5), MAHLn=0Kf, 4y, +5ZFIHL
UEBR Bn=0, & n=(4k£1)x2x3*x5x2" (Jift=1). HMmA2'. 5x2'. 3x2'z—, hylH1
F(8). (11)mr#EH
4y, +5=4u, +20v, +5=+20v, +5(modu,,, )

E&(A'y” +5j _ [iZOva +5] :Kum +4v, j o
Uy, Uy, 71

ot {Up, £4v,, | B mod 71, 3B PIANRIAR TSR 0 36, Fxt {2} B mod36 . 142l 42 1Ny

o 1 XTSI {u, —4v, b, mEERaT:
2',t=0,1,4(mod6)
3><2t,t52(m0d6)
5x2',t =5(mod6)
3><5><21,t53(m0d6)

JUESE

Table 1. The situation of u, —4v, (mod71)
F 1. u, —4v, (mod71)

t>1(mod6) 0 1 2 3 4 5
m(mod 36) 28 2 12 12 16 16
u, —4v, (mod71) 17 5 31 31 13 13

A4 1P EIFTE m i@ﬁ[“m“‘vmj:-L i&ﬁﬁ[MJz—l, FTbl 4y, +5 K35,

71 om
B2 X5 {u, +4v, |, mFEELT:
2',t=1(mod6)
m= 3x2',t=0,3,5(mod6)

3x5x2',t=2,4(mod6)

4y, +5

ﬁfiﬁ(um;fvm]:—l, ﬁfﬁﬁ[ ]:-1, FiLL 4y, +5 RAET 7%,

2m
Htn=00f, 4y, +5=3" T ¥

3|3 4 i&ns—l(mod22><32><5), M ALY n= -1/}, 4y, +52F .
VB #n#-1, &n=(4k+1)x2x3x5x2" (Hrt=1), m(11)zNnl%0,

4y +5=4y +5=-4y  +5=-111(modu,,)

—1+2><(4k11)><3z x5x 2!

Hrpy, =29, mHM2,3x2",5x2",3x5x 2" FHHYEE—" -
P 2m, ghifu, =1(mod4), S ih(5)%HEH u, =1(mod3), Ml
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=

4y, +5) (-111)_(-1)( 3 (37 (umj
u, ) Lu, ) \u Ju, Nu, ) (37
ot u, B mod 37, FIARFFHIR M 38, %74 {2'} B mod3s , FAFHIENN 18. %
2',t=1,4,6,7,10,12,13,16(mod18)
3x2',t=0,2,14(mod18)

5x2',t=5,8,11,17(mod18)
3x5x2',t=3,9,15(mod18)

m=

I AT E m i’ﬂﬁ[:—;jz—l, T LU S0 = 1B, 4y, +5 =107 777K,

3.2. % (2y+3)° =4y, +50

BI# 5 M HE Y n=0/, 4y +5& T,

WEH] B (2y+3)° =4y, +5=—4y, +520, #Fy, <1, H@)Hy, =1, H{y,} ZEWMFs, XK
K-y, +5=17, FFLYEAL S n =0/, 4y, +52FHE, ST,
4. FERRIERR

SEH AE TR BX(X+1)(x+2)(x+3) =11y (y+1)(y+2)(y +3) A E K7 N -
(%.Y)=(0,0),(-1,0),(-2,0),(-3,0),(0,-3),(~1-3),(-2,-3).(-3,-3),

(0,-1),(-3.-1),(-2,-1),(-1.-1),(0,-2), (-1,-2),(-2.-2),(-3.-2),
Hh o IE 5

WA BI5IEL 3 401 (2y +3)" =4y, +5=3, My =080F y=-3, HIXMAIBEARA
(-3,-3),(-2,-3),(~1.-3),(0,-3),(-3,0),(-2,0),(~1,0),(0,0) .

EB%[IE4%E(2y+3)2=4y,1+5:112, fRfFy =4t y=-7, Ky MEFNTEQ), 4
[5(xC +3x+1) | =46225 . HIx* +3x+1=+43, LLRF x THHfR

EE‘?[IES%D(ZerS)Z=—4y0+5=12 fiRfgy =—180F y=-2, FIX R ABEEUH N
(-3-2),(-2,-2),(-1-2),(0.-2),(-3-1),(-2,-1),(-1-1),(0.-1) .

ZEERTIR, SAE TR 16 HEEAR, WA IEREEE, IEE.
5. &g

ASCUAAE FFE BX (X +1) (X +2) (x+3) =11y (y +1)(y +2)(y+3) W FE X &, Litriz FALA 1 Pell
JIFEERS . SBIAT YN B R T RIARAIE TTE,  SERT X% R AR N S R A . A e
ﬁiﬂlﬁﬂé%ﬁﬁﬁ%%ﬁ[ (x +3x+1)} —55(y +3y+1) =30 T, BITAEE S Pell 5L
x? —55y% = —30 P AL AR IRT BRI R, A P HEBITTFA {y, | B Ry, =178y, —y,, (WIEHE
Yo =1y, =149 ) ARG RN B 5 il 2 50 B0 S (B 151, #5% 6301, 1% 521 %) 5 5 HIE R, &P
HEBR AR, BRAUESLZ T FEILAFAE 16 HBESR, 20N

(%¥)=(00).(-10),(-2.0).(-3.0),(0,-3),(-1.-3),(-2.-3).(-3-3).
(0.-1),(-82).(-2-1),(-1.-1),(0,-2).(-L-2),(-2.-2), (-3 -2).
HAFEEIE R . A SCIIAZ O DT RAE T4 TR S5 & T RIZEA B TR AT H . T
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=

i px(x+1)(x+2)(x+3)=ay(y+1)(y+2)(y+3) (Gt (p,a)=1, H p,qe N )AL, WA
1Ep=1q=2. p=1,q=7. p=50=42 %SH FEERMAE, {0 p=5q =11 M KBIRER Y.
A SO TS SYE, I T ZSMALA TR S ARER, P T A
JTRRIIMRYE, AR SER TR SR T SR RS
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